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A.

English

Read the passage given below and choose the best answer:

One of the most significant elements of age stratification in all cultures is the pattern of experiences
connected to marriage and parenting _ a pattern that sociologists call the family life cycle. In north America,
about 90 percent of adults marry, and the great majority of them have children and thus a family life cycle
related to family experiences. When the family’s first child is born, the parents embark on a sequence of
experiences linked to the child’s development from infancy and toddlerhood, through school age and
adolescence, and eventually, to departure from the nest. Each of these periods in the child’s life makes a

different set of demands on the parents.
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The phrase embark on in the passage is closest in meaning to
a) attempt b) begin c) discuss
It can be inferred from the passage that the family life cycle

a) takes place whether or not people have children

b) does not occur in cultures outside of North America
c) must be redefined from one generation to the next.
d) shapes several years in the lives of most adults.

Age stratification in cultures is influenced by
a) parents b) children c) life cycle
The phrase departure from the nest refers to
a) become independent

When a child is born parents
a) become very happy

b) fly from the nest
c) enjoy a lot d) depend on parents

b) are full of worries
c) geta lot of experiences d) go to hospital

d)

avoid

d) sociologists

Select the word which best fits in with the meaning of the following sentences. (5x1=5)

Which of the following words doesn’t have the prefix ‘ir’?

a) irrelevant b) irrespective c) irreparable
An account of a person’s life written by that person is called........
a) bibliography b) biography C) autobiography

The idiom ‘kick the bucket’ has the similar meaning with ...........

a) fell down b) pass away c) broke the bucket
Which of the following words has diphthong sound?

a) paternal b) out c) liquid

The meaning of the word “economical” matches with................
a) lavish b) frugal c) erudite

Choose the best alternatives from the following. (10x1=10)
Krishsaw ................. ewe on the way to market.

a) a b) an c) the

I love music but my father...............................

a) isn’t b) hasn’t c) don’t

He is knocked .............. by a car and taken to the hospital.

a) at b) for c) down

He will finish his duty ................. tomorrow.

a) on b) by c) at

Somebody comes here every day,................. ?

a) doesn’t he b) does he €) hasn’t he
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irritation

orography

pick up

speed

gentle

no article

doesn’t

over

no preposition

don’t they
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Afterl................... to the cassette, I gave it to my friend.

a) listened b) was listening c) had listened d) had been listening

People believed that she ate nothing for ten days.............................

a) It was believed to have eaten nothing. b) She was believed that she ate nothing for ten days.

c) It was believed to ate nothing for ten days. d) She was believed to have eaten nothing for ten days.

[don’tknow ............... she was absent yesterday.

a) when b) why c) what d) where

Mary visits us quite often. The underlined word is..................

a) Noun b) Verb c) Adverb d) Adjective

“Iam very sorry.” He Says......oovviriiiiiiiiiiiii i,

a) heisverysorry. b) hewasverysorry c) he hasbeen very sorry. d) he had been very sorry.
Logical Reasoning/Business & Accounting

I am a living being. In my name, there are first of Chitwan, second of Kathmandu and third of Butwal.

So, you tell me, "Who am 1?"

a) Dog b) Cat c) Ant d) Pig

As gold is related to ornament, what is wood related to?

a) Table b) Chair c) Furniture d) Decoration

You go South, turn right, then right again and then go to the left. In which direction are you now?

a) East b) West c) North d) South

Arrange the words given below in a meaningful sequences.

1) Family 2) Community 3) Member 4) Locality 5) Country

a) 3,1,425 b) 3,1,2,4,5 c) 31524 d) 1,2,345

Your friend has not invited you to his marriage party. You will

a) Attend the ceremony b) Hold it against him

c) Send him your best wishes d) Ignore the whole affair

If a watch is 1 minute and 14 seconds late in 37 days, how late is it in a day?

a) 1second b) 3 seconds c) 2 seconds d) 4 seconds

Which of the following instrument is known as plastic money?

a) Demand card b) Bearer cheque c) Credit/Debit card d) Gift cheque
What is the full form of PAN?

a) Permanent accounting number b) Personal accounting number

c) Performance accounting number d) Personnel accounting number

Who is the father of accounting?

a) Adam Smith b) Marshal ¢) LucaD. Pacioli d) Taylors

Which of the following equation is correct?

a) Assets — Capital = Liabilities b) Capital — Liabilities + Assets = Zero

c) Capitals + Assets = Liabilities d) Capital — Assets = Liabilities

"What comes in debit, what goes out credit”, the rules related to which account?

a) Nominal Account b) Real Account c) Personal Account d) None of the above

Which of the following is correct about operating income?

a) Operating income = Sales - Variable cost

b) Operating income = Variable Cost + Fixed cost

c) Operating income = Sales — Cost of goods sold

d) Operating income = Gross Profit — Operating expenses
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What happens if the sum of Capital + Liabilities in the business is less than total assets.
a) Loss b) Profit c) Liabilities d) None of the above

What is meant by the mistake of showing the depreciation in the trading account without showing in
the profit and loss account?

a) Error of omission b) Error of commission
c) Compensating error d) Error of principles

A firm has a capital of Rs. 1,00,000, sales Rs. 50,000, Gross profit Rs. 30,000 and operating expenses
of Rs. 20,000, What is the net profit ratio?

a) 20% b) 50% c) 40% d) 30%

The time period between placing an order and its receipt in stock is known as,

a) Leadtime b) Carrying time c) Overtime d) Idle time
vevveeeeenennn. refers to size of order which minimize the total inventory cost,

a) Re-order quantity b) Economic order quantity

¢) Minimum order quantity d) Existing order quantity

Balance sheet is prepared to indicate assets and liabilities at......

a) Point of time b) Period of time c) Accounting year d) All of the above
Following information of the company are provided:

Net changes in cash and cash equivalent............. Rs.60,000

Cash flow from operating activities .................... Rs.90,000

Cash flow from investing activities ..................... (Rs.1,00,000)

Required: Cash flow from financing activities

a) Rs.50,000 b) Rs.60,000 c) Rs.70,000 d) Rs.40,000
Wages paid for installing new plant is debited to

a) Wages account b) Plant account c) Installation account d) Transportation account

Business Related Questions:
A co-operative society is generally known as the organization of:

a) Money lenders b)) Farmers c) Businessmen d) Exporters
Which one of the following is not the feature of a joint stock company?

a) Limited Liability b) Legal Entity c) Perpetual Existence d) Limited Capital
The basic principle of book-keeping "Debit the receiver, credit the giver" is applicable to:

a) Personal A/C b) Real A/C ¢) Nominal A/C d) Fictitious A/C
Goods purchased on credit should be debited to:

a) Cash account b) Purchase account c¢) Party's account d) None of the above
People who provide finance for business are called:

a) Managers b) Consumers c) Investors d) Employees
There are three levels of business activities. These are:

a) Private, public, co-operative b) Primary, tertiary, public

¢) Government, public, co-operative d) Primary, secondary, tertiary

Goodwill is a:

a) Wasting asset b) Fictitious assets ¢) Intangible asset d) Current asset
Net worth of a business means:

a) Equity capital b) Total assets

c) Total assets minus total liabilities d) Fixed assets minus current assets
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Business is defined as:

a) Industry and commerce b) Industry and trade

c) Trade and commerce d) Commerce and services
The purchase book records:

a) Cash and credit purchase of goods b) All credit purchase of goods
c) All cash purchase of goods d) None of the above

Trade is defined as:

a) Trade and commerce b) Trade and services

¢) Home trade and foreign trade d) Industry and commerce

The smallest types of business are usually organized as:

a) Co-operatives b) Sole trading concern

c) Partnership firm d) Private limited company
Planning is a process of management that determines:

a) the best results of the past b) What results to achieve in future

c) duties and responsibilities of the executives ~ d) Leadership is the organization
Which of the following is not a function of the top management?

a) Planning b) Decision making c) Controlling d) Management of transportation
A person investing in the shares of a company exports to earn:
a) Profits b) Interests c) Dividends d) Capitals

What is swot analysis?
a) Strength, weakness, opportunity and threat b) Suitable, welfare of traders

c) Sweet work of tropical d) Sound, wave, oxygen and transmission
Who has provided the division theory?

a) F.W. Taylor b) Herbert Simon c) Elton Mayo d) Max Weber
Which of the following is not a leadership style?

a) Participative b) Free-rain c) Creative d) Democrative
BRICS include

a) Bhutan, Romania, Indonesia, China & South Korea
b) Brazil, Russia, Indonesia, China, Sudan

c) Brazil, Russia, India, China and South Africa

d) Britain, Russia, India, Czechoslovakia and Srilanka

Who is the founder of Amazon?

a) Jeff Bezos b) Steve Jobs c) Jimmy Wales d) Jack Maa
Economics

Role of private sector economy is....

a) Socialistic economy b) Capitalist economy

c) Mixed economy d) All of the above

Firms under perfectly competitive market are......

a) Normal profit b) Profit  c) Loss d) All of above

Which of the following is the basic characteristic of monopoly?

a) Only one seller b) No close substitute goods
¢) Restriction in entry of new firm d) All of above

If price of product is Rs. 20 and quantity is 10 units, what is total revenue?

a)Rs. 120 b)Rs.200 c¢)Rs.20 d)Rs. 210
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Payments use of capital is:

a) Interest b) Wages c) Rent d)
Relationship between saving and interest rate is .....

a) Positive b) Negative ¢) aand b both d)
TR refers to

a) PQ/Q b) PxQ c) Q d)
Which is the first commercial bank of Nepal?

a) NRB b) NBL c) ADBL d)
Which of the following is capital market instrument?

a) Debenture b) Bonds c) Shares d)
Who is known as father of a Macroeconomics?

a) A. Smith b) J.M. Keynes c) Melton Friedman d)

If tax is imposed on income (salary), then which of the following tax is this?

None of the above

None of them

None of these

RBB

All of them

A. Marshal

none of above
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H.H. Gossens

Sao Paulo

Canada

Seti

a) Direct b) indirect c) social tax d)

How many Sustainable Development Goals (SDGs) were adopted by the United Nations in September

2015?

a) 15 b) 16 c) 17 d)

Law of Demand was propounded by:

a) A. Smith b) A. Marshal c) L. Robbins d)
GK

Which city will host the 2028 summer Olympics?

a) Los Angeles b) Berlin c) Beijing d)

Where is the headquarter of WHO?

a) Switzerland b) UK c) USA d)

The deepest river in Nepal is:

a) Karnali b) Mahakali c) Narayani, d)

Where is the 6th BIMSTEC summit will be held?

a) Burma b) Thailand c) Cambodia d)

Sugauli treaty came into existence on the

a) 16th Dec. 1815 b) 4th March, 1816  ¢) 25th December, 1815 d)
How much fast is Nepal time than international Greenwich mean time?

a) 5hour 45 minute b) 4 hour 25 minute ¢) 5 hour 35 minute d)
Who was the last Rana PM of Nepal?

a) Mohan Samser  b) Bharat Samser c) Babar Samser d)
When did Bangladesh got Independence?

a) 14 Dec, 1971 b) 26 March, 1971 ¢) 25 Dec, 1971 d)
Who is the real father of AYURVEDA?

a) Charak b) Kautilya ¢) Gautam Risi d)
When did Nepal unification happen?

a) 1768 AD b) 1765 AD c) 1775 AD d)
The total height of Annapurna Himal is:

a) 8092 metre b) 8091 metre c) 8025 metre d)

When did second world ware end?

Nepal

8th March, 1816

3 hour 25 minute

Judda Samser

15 August, 1975

Parsuram

1763 Ad

8600 metre
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a) 4 March, 1945  b) 2 September, 1945 ¢) 10 September 1946 d) 1 Sepember 1939
Who is known as the 1st Scientist of Nepal?

a) Gehendra Samser b) Bir Samser ¢) Yedunath Khanal d) Dambar Samser
When was the first school (Darbar School) established in Nepal?

a) 1850 AD b) 1856 AD c) 1854 AD d) 1852 AD
Which instrument is used to measure depth of ocean?

a) Lactometer b) Fathometer c) Barometer d) Hydrometer
How many districts of Nepal that share border both India & China?

a) 4 b) 6 c) 2 d) 8

The largest district of Nepal is:

a) Kailali b) Kanchanpur c) Kathmandu d) Dolpa

Who was the king of Nepal?

a) Girvanyuddha Bikram b) Tribhuvan

c) Ran Bahadur Shah d) Pritivi Bir Bikram

The first daily newspaper of Nepal was:

a) AWAJ b) Sudasagar c) Sarada d) Nepal Sandes
The another name of lord Ganesh is:

a) Dundirgj b) Hari c) Basant c) Sagar

Mathematics
If the value of a is increased by 25%, then the new value of a is?
a) 2.5b b) 25a c) 1.25a d) 0.25a

The total cost is given by TC = P x Q, where P and Q denote the price and consumption of certain
commodity. The price P increased by 10% and the consumption decreased by 10%, what will be the
change in the total cost?

a) Increase by 1% b) Decrease by 1%  c¢) Increase by 10% d) No change
What is the L.C.M. and H.C.F. of the numbers 16 and 24?

a) 6,48 b) 8,48 c) 24,2 d) 2,48
What is the difference between simple and compound amount of Rs10000 for 2 years at 1% p.a?
a) 1 b) 10 c) 100 d) 1000

A two digits number is such that product of the digits is 18. If the digit at one's place is half the digit at
ten's place, then the number is

a) 29 b) 92 c) 36 d) 63
A book seller purchased a book at Rs 120 and sold it at Rs 144. The percent of profit would be
a) 10% b) 24% c) 20% d) 44%

If 4 printers can print 800 pages in 5 minutes, how many printers are required to print 3200 pages in 10
minutes?

a) 4 b) 8 c) 12 d) 16

The probability of happening an event E is 0.45, then the probability of not happening the event E i.e.
P(E) is

a) Otol b) 0.50 c) 0.55 d) 0.45

A coin and a dice are thrown at a same time. What is the probability of getting tail on coin and odd in
the dice?

1 1 1 1
Which of the following is not considered as central value in statistics?
7
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a) Mean b) Median c) Mode d) Standard Deviation
After allowing a discount of 20%, the net price of an article is 4800. What was the list price?
a) 6000 b) 5000 c) 5500 d) 4000

The population of Dhangadhi was 218693in B.S. 2078 and the population growth rate is supposed to
be 4 % p.a. What population do you guess in B.S. 2088?

a) 323719 b) 303719 c) 283719 d) 263719

The symbols <, >, <, > are related with ...

a) Equation b) expression c) Inequality d) Simplification
Solve:  3**1 —2%¥ =23

a) 3 b) 2 c) 0 d) 1

Hari and Om are two partners in a business. They invested Rs 2 lakhs and 3 lakhs respectively. At the
end of the year, Hari receives Rs 30 thousand as a share of profit, what is the share of Om?

a) 20000 b) 30000 c) 45000 d) 40000
. . 25

Slmpllfy.§+;

a) % b) % 0) g d 1

There are 250 people lined up outside a cinema hall. A is the 25th person from the front and B is the
125th person from the front. what is the number of people between A and B?

a) 100 b) 101 c) 125 d) 99
Simplify: 9—3+-+7 x2.

a) 14 b) 32 c) 22 d) 16
What is the mean and median of the scores: 3, 7, 6, 4, 5, 9, 15?

a) 4,7 b) 7,4 c) 6,7 d) 7,6
If x —y = 12 and xy = 45, then what is the value of (x + y)??

a) 8 b) 324 c) 144 d) 64



